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If 8A = 9B = 10C, then A:B:C is: g v
AME 8A = 9B = 10C, 7t ABC & wb
(A) 4():4,’:3(\ 0?

o < @
(B)  45:40:48 %
(C) 32:36:45 x

v 7 \0

45:40:36

Question not attenipted / Hﬂﬂﬁﬁgﬁ

A sum of ¥ 300 is to be divided among P, Q and
R in such a way that Q géts-Z 30 more than P and
R gets ¥ 60 more than Q;:"‘]:hen the ratio of their
shares is: \v

% 300 Hr TP, QWR&WWW%%Q
HPHZ 30 aﬁmmﬁaﬁtRﬁQﬁ? 60 Ao
e a3 feet SR

(A) 345 /%

o, g
(B) 3:4:6 ;5‘ ://5677
2:3:5 e i
(D) 4:5:6 WO
(E) Question not attempted / SN /
N;-}
o

The ratio of the present ages of the Akshat,
Bhuvan, Sandeep and \%a.(un is 7:9:10:13. The
eldest is 12 years older thgh the youngest. What
will be the age of Sandeegj;yea:s from now?

(B'\)Q 35 years

(q}"g 20ears

(A) 30years
©) 25 years

(E) Qucstion not attenipted
7:9:10: 13%'331}@“%%““@%123@%

1w 1 o7 9,5 T TG T ey
ER 3sqg "

Ay 307
25 a9

Wﬁ?{wﬂ'

r of Raja

the law Ministe

Name

September 20247 -
Choose the most appro;t(téte
options given below: { :
(A) Jogaram Patel
(B) Arjun Ram Meghv{if;

©) Bhajanlal Sharma .4
(D) Bhupendra Yadav &4
(E) Question not attempted
e 2024 3 AT TFET TS

)
(B) ATHAHETERL
(©)  wemETE Tk

(E) SIgaiawsy

Among the following MP§ of
Sabha, who has been eiecte<
number of times to the Lok Sab

Choose the most appropeiate

options given below: ©
(A)  Shri Gajendra Smgh She]
(B)  Shri Dushyant Sing
(©) Smt Mahima Kumm#Me
(D)  Shri Ummeg Ram Bén
) Question not atte dl Y
T E a%’g o
ﬁwﬁgﬁwwm%&,—
ﬁwftﬁwam
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16

Match Ljst with List-I1:
List-I List-I1

a.
Blood plasma I Cells are suspended

n 1t.
b, Haemoglobin II. Binds with oxygen
and carries it to
different parts of
the body.
C.  White blood cells III. Clot formation

d. Platelets IV. Fight against germs

-1 % | gfi-11 1 firer i
- Te-11
a THwSATY 1 IR
freifera ereft 2
b, dETRE 1L i § s
B 30 TR %
fafir st & ugadt 1
& T 1 Q0 erereT feor
i @m@ N ot

Choose the most appropriate answer from the

options given below: :
% a—I,b—II,c-I\%d-HL

(B) a-II,b—IV,c-III,d-I

©) a-l,b-IV,c-IH,d-n

(D) a-II,b-I,c-I\?,d-qI

(E) Question not attempted / STIANG sy

an average, how many times does an adult
On

N ¢ rest in @ minute breathes in and
being &
human

out?

A
et TCEE

e AR BIEAT 82

{ appropriate answer from the

Jr ®) 1922
Question 1ot 2TPted/ STRT 3y

*** - T

|

lled cell division Of

Rapid uncontro
; auses intolerable P

17 ains

; ich ¢
formation Whic |
s and symptoms of

later stage are the cause
ing di ?
of the following diseases:

i 0!
Choose the most appropriate answer fi

options given below:
(B) Hepatitis A

D)

(A) Hemophilia
©
(E) Question not attempted

oy il PRI FordTo 37T ST (
fator forerd &g 7 sree &8 e &, ¥ f
38 o 2T 35 ST T T
Frerferfiad fredi 3 & wraffires SUgw I
(A) , ST (B) Merfg A
}/%‘“ (D) TR
(B) 3Ifaid 5 ‘

Cancer Swine flue

18  Which of the following salts in ‘mineral

prevents goitre in cows?

Choose the most appropriate answer frop
options given below:

(A) Cobalt Chloride
(B)  Sodium Hydroxide
©) Potassium Iodide
(D)  Sodium Carbonate
(E) Question not att
empted
e 8 @ﬁa%
BUASEL Y
SR e ey i
" U)W TS By g
Frrferfier ﬁl‘w’mﬁﬁﬁ%m
(A) FIEE Feirre g |
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I.h’ 1ohec .
¢ highest milk yielding breed of a cow of

Indian origin is:

Choose the most appropriate answer from the
options given belows:

(A) Sahiwal

(B)  Sindhi

(C) Haryana

(D)  Tharparkar

(E)  Question not attempted
TR Tt it waif ga 2 aref e o T o
o ———

% HTEETA ;;k. :
(B) o=t
© o
(D) IR
(E) 3 94 -
&

ey

"qx
20  Feeding large dosqgi“-E of vitamin ‘D’ one week

before calving prof&ts the cow against:

Choose the most @?ropriate answer from the
options given below::

(A) Foot and mouth disease

(B) Udder Congestion

(C) Ketosis %

(D) Milk fever %5

(E) Question no"g,ttempted

e I A 2 o UHHHTE Teel T 1 ey <

o A U & 8 T e i
T B e

21

22

23

N. F E. with reference

The full form Of‘
on of cattle 15

nutriti

Choose the most apprP
O How:

Q ’oW 2

options given D t
(A) Nickel Foam Extrac

riate answer from t

(B) Nitrate gluorine Ether
(C) Nitro Fgﬁ;éro Extract
(D) Nitrogegfree Extract
(E) Question not attempted

e F, T 3. LA
5 & waferes 39g 31

The Gestation period of a cow is:
Choose the most appropriate answer from
options given elow:
@) 320 dayd (B) 281 days
(©) 101 day&:} (D) 194 days
(E)  Questiop.not attempted
T Y TR STaf R
et forehat & & arartferes sogw 37 T
@) 320% @& ife
© 101fFp. ®) 194fm
(B)  rgmitaysn
=i

Antibiotics are | :roducts of
Ch h, o

c.>ose tPe nég T appropriate answer Fon
options given ﬁt‘s}ow:
(A)  Fungi and bacteria
(B)  Fungi and viruses

(©) Bacteriia,\and Viruses
(D) Parasitqg@nd bacten"a
(E)

Que.sticm]hot attempted



https://chat.whatsapp.com/E8svZyeiQBG9RFiT1m3icm

24

?

25

Match List-I with List-1L:

List-I List-II
(Lakes of (Cities/towns
Rajasthan) where located)

a. Ana Sagar I. Churu

b. Tal Chhapar II. Tonk

c. Sardar Samand IIL. Ajmer

d. Tord1 Sagar IV. Pali
et -1 el 11 & T I
Tt -1 Tl -1
(T'W Ll (FATYITER T

aaaﬁm%l)

£y

b.

c. Wﬁt
d. a@ﬁ

Choose the most appropriate answer from the

options given below:

= fw e foedt # & wafferes suges sow T
“(A) a-ILb-I,c-I,d-IV
‘)Bj ~a-TLb-Lc-IV,d-TI

(© a-Lb-1V,c-ILd-II

(@) a-IV,b-Ic-II,d-1I

(E)  Question not attempted / Hﬂﬂﬁﬁ g

Besides Gogaji, which other folk deity is revered

as the God of Serpents? «

B4 3
00se thp most appropriate answer from the
-5
options given below:

) P?.bl:_]l (B) Ramdevji
Tejaj1 (D) Mallinathji
%m@wﬁm%maﬁm%%m%
%mﬁﬁ@rﬂ?ﬁ&aaﬂgﬁ,—waﬁ ¢
®) wwah
b
*** s/ )

26

27

28

The life history of saints which is av

poetry form in Rajasthani language isk
Choose the most appropriate answer
options given below:
(A) Vaat

©
(E) Question not attempted

et 3y St et it fob Trore T TS H 3
FueTeH 8, FET Sl &

frefifiad faeredl § & watfed STg® 3
=T
HIET

(B) Parchi

(D) Marasya

Prakas

am )
JehTE )
agaﬁ?r‘;r%r

(A)
©
(B

As per the Census of 2011, the populatios
in the state of Rajasthan was

per square km.

201 1 =T ST 6 STTHTL, TSTEH TS o)
BRI ek Sifer o fepet o)
Choose the most appropriate answer {

options given below:

ﬁm%f‘@ﬁ%aﬁﬁﬁﬁwﬁ\waug?ﬁai
(A) 165 B 201

©) 35 D) 211

(E)

Question not attempted / 3TN 3
N

-]
»

According to Census 2011 which of the fc
s.tates has a population less than Rajastha
(A) Maharashtra (B)  Bihar

©
(D)  Odisha
() Question not attempted

2011€ﬁrmmémqwﬁq%&
I ST T g T oy d
S ey B)  fyar

(©)  fspy sjmey
peo))
® st Hifewr .

West Bengal

[C



https://chat.whatsapp.com/E8svZyeiQBG9RFiT1m3icm



https://chat.whatsapp.com/E8svZyeiQBG9RFiT1m3icm

r&am

the

36 Which river of Raj

asthan originates fror

ountains of Vindhyac ha

place Minda of the m
Choose the most appro, priate answer from
options given below: )
(A) Luni river )
(C) Chambal river %}} Banganga river
(E) Question not atjesppted
e ) -t T o v F fryueT T4
@ fmerdt 27 o
E“‘l% hi .aaﬁ;q ﬂﬂuaiiga;vmm K
et ad L %qmm wu/
W?W ))  FTOET
FARA TS ey
37  Which of the 1k>l|owi'ncé is the biggest artificial
4

lake of Rajasthan? ¢y
Choose the most appropriate answer from the

the

Mahi river

options given below:

(A) Jaisamand [B) Didwana
(C) Pichola IID) Udai Sagar
(E)  Question not alwpmud

ﬁﬁﬁhﬂﬁqmmmﬁmaéraﬁnm
b

?ﬁwmﬁﬁ”ﬁmmwm

(D) ITWEFR
slgﬂfmw

(E) h

38 In Rajasthan hot, df¥'and dusty winds start

blowing in summer w b%h is called
Choose the most apprgpriate answer from the
options given below: £

(A) Taku @) Foehn
(€) Loo (D)  Siroco
(E) Question not al}q@pted

mﬁmﬂﬂﬁwﬁﬂwaﬁrwuﬁwa TR
aEfee 7 RS R
a\if&qmzfaaaaﬁ wamﬁm T

(A)‘:" aF aB) FIEd
Sy M) fada

(E)  srwfid wa

- .;L\],

V-Coy &

e most uppru/)rnlh'

( S€

Y S @ W

A P

C White o ) R

(F Ques t
et 3§ BT FFHe (1) 3l T ¥
AT
e fawedl 8 | gaifae 399 300
(A) Sy e gy I

o e I -

(C) =meamEdel (D) T

(E) HAIHT TH
40 Maru Raikas of Ragasthan are basica
Choose the most appropriate answer

options given below

(A) Camel herder (B) Shee erde
(C) Cattle herder (D) Goat herder
(E) Question nat@ttempted

TSTEAT % HT& TEHRIGerd &
fr=fafaa fawedr &8 gaifas 3ggw 39 =

A T EwEg B) ¥ wa®
(C) wAMF =TGR (D) FdH & 9
(E) 3=4ftd 94
41 A part of integralion, when was the Raig
Board of Revenue established?

Choose the 1
ose the most @ppropriate answer fro

Uplz\m\ given belows

(A) September Y948 (B) October 194
(C) November 1949 (D) December |¢
(E)  Question net attempted

HHIFEH & 9T BI¥Y ¥ TR T

94T & 732

Y-{Mfﬁ.ﬂr,jd IEE TR IR .
. 48 aaifas
IYGE IT
(A) THaER 5

1O
} 13 (B) NI |94
&7 VST | 94¢ ?
N 19T 1949 (D) By o5
(E) HAGNRET Uy ‘

| Co
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TUV - 09|

Wi .
10 Invented the musical instrument

“Mohan Veena™
Choose the most appropriate answer from the
options given below:

(A)  Karpur Chand Kulish

(B)  Jagjit Singh

(C)  Pt. Vishwa Mohan Bhatt
(D) Dr. P. K. Sethi

(E)  Question not attempted

e orr St aTer 1 SATferehT foRe fora?
frefefaa o § & waties Sgh Su 91
(A)  FE TR LR

(B) i few

}Q)/ Y, forg He w2

(D) <. F

(B) ogHraTH

The Bisalpur Multipurpose Project is built across
which river?

Choose the most appropriate answer from the
options given below:

(A) Chambal
(B) Mahi
©) Jakham
(D) Banas

(E) Question not attempted

e gt e T WA g

e famedi 6 & At ST IR,
(a) ==
(B) |ret
(©) SEH
EEit)

(B) FAE A

i

44

45

ated at Bo)

o
Which multipurP0s€ projects 0

. pajasthan? .
in Rajast iate aNSWeT fro

Choose the maost appropP’!

options given Gelow:

(o) Mabi Bajaj S¢30
(B) Rana Pratap Sagar
(c) Jawahar Sagar

(D) Sidhmukh Project

(E) Question' not attempted

wmwwmﬁm
e feora 2

forepedt § & walfereh 39gh ST
) TR A |
(B) T YA R

(C) SERCEIR
(D) g afEsET
(B)  srmia wy

According to Censys 2011, which of the foll:
districts of Rajasthan haq the lowest popu
growth rate during the decade of 2001-201

Choos;

- € the mosy approprigte answer fy,
Options gjven below: ’
(A) Barme

T
B) Kot
a
(D) Jaipur

€mpted

® Question not atty
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TUV -C09]

(

haracterist
i
Cs of Palash forests found 10

Rajasthan are

a

The >
s¢ forests are spread in those areas

where the sur .
here the surface is stony and hard.

b They are found abundantly amongst hills
where plateau land is available.

c These types of forests are found only in the
Mount Abu region.

d.

These forests are also found in the plains
which are pebbled and have less amount of
soil.

Choose the most appropriate answer from the

options given below:

(A) a,bandconly
(B) b, candd only.
(C) a,banddonly
(D) a,candd only.
(E)  Question not attempted

Wﬁmmmw@%ﬂﬂ%

o 3337 &F 8 ol & ST I gt gude
Ll

b, & I 3 39 & H S AR S &

aﬁmgﬁw%u/

= ST 3 A A2 ST &5 H 9 S

%|(7<

d 3 3 Bt § o O S & e dehs E i
gy e e e 21

i e el 6 4 AT T I -

(A) éﬁaa.bﬁfﬁ/’\

®) ¥ ML

Facia, b#d
D) FA e, gd L
(E) ygaﬁ?fg’ﬁ

ok

12

51

52

ist-] with List-IL:
Match Llls( I -
s b
o s of Soil) (Most appropriate
" characteristics)

a. Red yellow gL Contain> a sandy
4 ’ Joam texture

b. Desert soil II. Presence of iron
| particles
Cannot absorb and

c. Black soil 1L

hold much water
d. Alluvial soil IV. Cheeka dominated so1l

e 1 11 & gifer

Tt -1 et 11
(T 35 ST (@rtferss FEedol
L

o AETEATE 1 e GEe e B 2
c. I gL

FH g ST 2
IV. = T8 HaT
Chc?ose the most appropriate answer from the
options given below:

e few e et 5 & warifires sgares 3w o
(A) a_Lb_,ILIr’C“I_IJd-IV > 5

d. SeiE gar

EIZ) a—/ILb-IV,c—I.d—III
)‘ a-l.b-’IlI',c—IV.d-II
a-ILb-T,c-1v, 4-

(E) = 2

T
Question not 5
attempted / SYmfig
P / 5 e

The process of coati
oating teeth with
£0ld is calleq-

Choose th
e
most approprigte answer f;
TOom the

options given below:

(A
& i Zl;};: (B) Choonp
ol a (D)  Mokg;
), €stion not attempted
ara”rmﬁ%rﬁwwazﬁ I Ty
‘%q %1m|\@a ﬁmﬁﬁ e 3‘33:‘:{1'35{
) - Q
2 $~< (D) e
e oy

1. Sicf 90T TS SIT90T &75T

9]
-

wn
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2l

o were the Phad reciters?
the most appropriate answer from the
ons given below:
" (B) Kalbelias
( (D) Banjaras
) not attempted
a
& watfores I9gw L
(B) aeseET
(D) ﬁjﬁm

A

n high mountains are called:
st appropriate answer from the

57

S8

Which monument is known as the “Hawa Mal

of Jhunjhunu?”
Choose the most appropriate answer from t

options given below:

(A) Jaswant Thada (B) Jagmandir palace
(C) Lalgarh palace (D) Khetri Mahal
(E) Question not attempted

ﬁ-ﬂm‘wﬂm‘%wﬁ%@ﬁ'
Sreffiga fredl  § @atfas 399w 370 5
(A) SEaa¥ET  (B) ST ¥
(C) oeTE TeE {(«Ef)‘ wasl ggd

(B) Agui@ s

Where is the Gagron Fort situated?
Choose the most appropriate answer from tl

options given below:

(A) Jhalawar (B) Alwar

(C). Karauli (D) Bharatpur
(E)  Question not attempted

TR fofe shat o feere 27

ﬁﬂ%ﬁﬁmﬁﬁwﬂhmmg}

A TEmETs (B) =T
© (D) AW
(E) rgaia vy

What did Dr. P. K. Sethi co-invent wit
Ramchandra?

Choose the most appropriate answer from tt
options given below:

(A) Jaipur elbow (B)  Jaipur wrist
(C) Jaipur knee (D)  Jaipur foot
(BE)  Question not attempted
U R T BRI e e— sy
Bl
L. :
R o o 4 e s s
T ®) e

Jb)’wqh
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60

61

Whe
€N wag ¢
1S the st battl f Tarain fi ught?
ain fo

Choose the mggy appropyr
Options given below,
(A) 1193 A
(€) 1193 AD
(E)

late answer from the
(B) 1192 AD
(D) 1194 AD.

Question'not attempted

ﬁqﬁqﬁaafamﬁnwaffwmgmwgi
AT 1191 w, (B) 1192w &,

(C) 1193w (D) 1194T .

(B) srmfayy

In which yearwas the Kota Rajya Praja Mandal
setup?

1T T T Hee ot wuraA for ad & g2
“Choose the most ;p[;rllll—:l;lll’ answer from the

options given below:

loa2 (B) 1943 Wy&
1944 ®) 1943 /

© f |
(E) Questiopnot attempted / STTHIE ¥

According t© Census 2011 which of the followipg
ce

has a lgwer literacy rate than Rajasthan?

ates .
st " most appropriate answer from the
f

Choose t
options gi\'cqlo\\x
(A) Goa &

(B) Bihar rf

C) Nagalmgc‘l

( £

D) Tamil Nadu

(

gamorar 2011 &
gt &+
:‘qﬁﬁaﬁamwmﬁ

LR

62

<iop not attempted
Oueau%mﬁ&hmﬁ \

w’}],:' wa

o the Census of 2011,

According ! han in India v

ition of te~state of Rajast
- @ulation size?

respect t its b

Choose :)he appropriate answ er from
00
i i low:

options giv .

(A) Seventhy (B) Fn'ﬁh

(C) Eighth\® (D) Ninth

(E) Qumti@not attempted

2011 SHTIFT & FTAR, FTHHET e
T RE o TSR TS T /T S 417

forfefiaa fadeat & & i 39gw 377 9
A) m M‘Tﬁaf

;f{ © (D) &t

(B)  srgfeqagr

O
Which of theldllowing statements is not corre
about Rajasthan Road Vision 20259

Choose the #rost appropriate answer fron

options givermlow:

(A) Inthe gl IS years, all the villages will
connetw with roads,

(B) It was_prepareq by the Public worl

y Departiggnt of Rajasthan,

After Kyears of Road Vision, in the nec

:n years tllyovers and foyr lane sta
ghwp‘ wnlbedevelope¢

(D) I:'I(I)u h@Willages of Rajasthan sha) 1
& Shﬂnierlhemarketeconomy throug
(E)  Questig tat!;ammed
ﬁqﬁﬁﬂﬁwm;\;ﬁg R
(ﬁ"lh&n LR T 3
A) w}nmt‘fm*ﬂﬁ m‘:ﬁ*
-
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67 The Rajasthan government has started

programme for the proper mana
at the local level.

Identify the programme.

Choose the most appropriate answer from 1

gement of wa

options given below:

(A) Jal Kranti Abhiyan

(B) Pradhanmantri Jal Swavalamban

©) Mukhyamantri Jal Swavalamban

(D) Rajasthan Jal Sanrakshan Mission

(E) Question not attempted

_ = ] ST T 3 STl % wHfed Fare o forg T
- | TR FEEN S EAT 2

Wy w1 TEE )

to which of the | Srefofad e § § gaifie ugw® 39T

(A) S s XA

;){ TETHAT STl Feaerr

HEAHAT STeT T
@) mem—;‘
(B) srafa o=

et

of India?

68  The country defeated by India in the semifinal
ICC MEN’s T20 WORLD CUP, 2024 is:
Choose the most appropriate answer from
options given below:
(A) Afghanistan
| § (B) South Africa
- (C) England
(D)  Australia
(E)  Question not attempted
8 291 570 o ¥ it v 8 20 frarr, 2024
TS & Wt 3 v . "
Bl EER —
SR )

e

| Contd
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69

India wop

W 20ld medal both in the Men’s &

) an’ .

k ];)]m” > Categories in which of the following
B CHESS  OLYMPIAD held during

Sehia 2+ 909
eptémber 2024 at Budapest, Hungary?

Chotse the
100se the most appropriate answer from the
OPLONs given below:

(A).y 44th (B) 4sth

Q) 46th (D) 47t

(EX2Y Question not attempted

forwsm 2024 % syeriree, st & s A
“HIES YIS Sefiare § v ¥ g i At

AR w0l gaw Sfar

Frmtferfiaa fasedt 4 & wraifares sages s
(A 44 (B) 457

(O 467t (D) 47+

(EY ., ST s

70  Mafu Bhaker, an Indian athlete is related to the
sport of:
CPF)Bse the most appropriate answer from the
optigns given below: 3
(Adegt Javelin throw (B)  Shooting
QO Badminton (D) Boxing
(Ey~ Question not attempted
e ST T R e fore @ @ gafig 22
fafefiaa farehed! 3§ § Hatfeeh 0 3 oH:
) FaeEa gy AR
(@~ F=fiea (D) i
2 R

71  How,many members are there in the Rajya Sabha
req_{gsenting Rajasthan State (as on September
2008)°
Chogse the most appropriate answer from the
options given below:

(A~ 20 members  (B) 10 members
(C§9 12 members (D) 8 members
(Ed Question not attempted

T @ TSEEHT H fohe et syt

2024 %) 82

ferspedt 3 € HAfErE

2098 ;

72

73

rossed

jon is €
.1 which the Fq generatl
'l nt 1S called:

; e .
ive par ropriate answer from the

A cro!
v h eCesS!
with t e;hg wost 4pP
options gien beloW:
(A) Regiprocal 0>
(B) Tespeross
(©) Back cross
D) Pd‘ﬁh}’bﬁd Cross i
\festion not attempte ) 3 -
O e fo F m;mw ST
. ﬁ,mm%: FHaddl &: 4
fepedi & & EaTTeres TG ST T
&« L
ﬁ &g)
(©) I () FFC
(D) WHEF{UT‘(
(E) SWqia 94
O

From tb@ist of the following statements, select
the correct statements:

a. The external appearance of an individua
is'called genotype.
b. character which expresses itself in F

generation is called dominant character.

G IS ty_pe of cross in which a single
colg_tirastmg trait is considered is callec

) m%o-hybrid Cross.

- %factor that controls 5 character is
called gene,

Choose the
. ™Most appropriq
Options given below: SEESwer from 1

A) a ddonly (B b
E )) s ly (B) > ¢and d only
©) ¢ onl

: Y (D) canq d only

tion not attempteq
a. S ¥ T ’
: L) PART B e
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ed
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74

The plants which are crossed to obtain the
offspring are called:

Choose the most appropr&e answer from the
options given below: wyt

(A) Hybrids <

Parental generation

Flrst filial generationgy

5 Zygote R (®)

~ Question not attempted

FEE & &

fc ﬁmﬂﬁw‘@wmmaﬁ
mlﬁaﬁ

@)

n T 40,000 at 10%, per annum for 1%
the interest isfcompounded semi-

| when it is compounded annually?

10% A% R § 14 o % wrafa
ic 2T & 9 S
RIS ‘zﬂ?ﬁ% @mw%‘?

v 105
n not attemp%ﬁ / AT T4
<«

0% per annum ‘Compound interest,

)"

77

T 95 M’*“;} 4

roperty of

Which of the following is not a P

r— -
metals?
Choose the most algopnate answer from the
options given below: %
(A) Metals are som‘gous -
(B) Most metals hw low melting point.
(C) Except lead Cnost metals are good
conductors of heat.
(D) Most metals ar;z malleable.
(E) Question not aggmpted
Frefefiaa § & FH-gfeRe ang 1 T T ﬁ%‘?
freffa ferepedt § 3’3@‘@%‘ Jug I T
(A) g1 et Bl 8l 7
sHfersriar it 6 m@ﬁ ok
©) s T AR E
(B) SguRd :‘é;
d

78 If zinc granules are“?dded to copper sulphate
\of__solution, what will be observed‘7

Choose the most a@g{oprtate answer from the
options given below:

(A)
(B)

Solution becorhes red in colour

. )
Solution becomes brown in colour,

alf yearly, ifi*how much time will B 0iution retaifs hs blue colour.
by 10.25% (D)  Solution becomqs colorless.
(B) 11 months (E)  Question not attempted
(D) {15 months “ﬁm%wﬁaﬁmm%ﬁmﬁ
, S, i o s 2 ﬁm
‘ SIS ST et fomect & @ ararfires
A Wh})zs%aﬁrq@ () fremmr e B}m;’ﬁmﬁz
” A5 far s g sy
. S (©)  foores s et oy A
A {p ﬁmﬂtﬂﬁqﬁm%nmw.%l
0 1 N

(B) st wer
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79

80

81

Chooge
non—mclalx.
Choose the mog,

OPlions gjyey belo

(A)
(B)
(©)

(D)
(E)

the INCOrran
correct statemen; with reference to

appropriate answer from the
w:
A

Don-meta] g

used in the water

Purification process,

Non-metals are good conductors of heat
and electricity.

Non-metals are used in crackers.
Non-metals are used in fertilisers.
Question not attempted

ST o Haf i 1 =)

(A)

©
(D)
(E)

ST 1 IR STt wivert 1 s & fer
ST 2

ST AT 3R ey 1 gmeres Hod
ST 1 3T Gera & faram <imar 21
STUTHAT T ST IdTehT § foraT Sirerr 21
SN T

“Banjara, a well known group of graziers are

found in the villages of :
Choose the most appropriate answer from the

options given below:

(A) Bihar (B) Rajasthan

(C) Andhra Pradesh(D) Goa

(E)  Question not attempted .

SR, SIATE! T Uk WS TE EXiicik:
ST 2 ‘

g{ﬂ%{%ﬁ ekl B & FATTE ITgTH 3T -

(a) fomm 48] e

() e (D) T

@ FIRATH

By which of the following month are Raikas
known to move for pastoralism?
Choose the most appropriate answer from the

options given belew:
(A) June
©

(E)

(B) July

October (D)  August

82

83

84

The Bengal tiger is found in:
Choose the most appropriate answer

options given below:

(A) Mountains (B) Delta area
(C) Plateau (D) Desert

(E)  Question not attempted

STl 2187 ITIT 7T &:

ffafad fasred & § wrafferd 3ug 3¢
(A) werradid gy SearaAd
(C) wBRH (D) TEEIAH
(E) Ageid g4

Continuous inbreeding increases:

Choose the most appropriate answer fr

options given below:

(A) Homozygosity

(B)  Heterozygosity

(C)  Ovulation capacity

(D) Fertility

(E)  Question not attempted

TRTTAR S-S5 & St 2-

E:r/%ﬁaaﬁwff@wﬁba;wgmw
TR (B) e

©)  ¥RErEt e (D) o gy

(E) orgafa gy

‘Which of the following are the

endoparasi
cattle?
e bige b. Tape worm
c. Ascaris d T
s er fl
e.  Ticks o

Choose the most appropriate

options given below:

(A) dande only (B) b, ¢ ang d

(©) a,bandc only (D) a, ¢ ang E

(E)  Question not attempteq 3 il

R 3 2 2 SRt e o
e 4 Iy ‘ﬁa@;m o

d.

answer frop

c.
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i =
i  List-1I (Related to)
V Fishery
‘ Agriculture
.i -

Oil seeds

88

89

90

The average marks of 40 students of a class ina

test were calculate?&s 33. But later it was found
istake.

that the score 33 Was taken as 93 by mis! i)‘,

‘ i
What is the correct ayerage of their marks?

4
m%mﬁmﬁiﬁwmﬁaﬂwm}y’w

e g 39 i A A 93 ?"fﬁ‘lﬂTWy
Q,

ofT| S ST T Tt SrEd T 82 A

|
(A) 345 ® 33 \}<
‘ng 315 t;,(D) 31.25
(E) Question nouﬂttempted/ﬂfl;ﬂﬁ?f g5 d
=

A shopkeeper sold :ﬁltem forX 765 after allowing
a discount of ls%n the marked price. What
would have been the selling price if he had
allowed only 10% discount? )

T GRIER A 3 W 15% FE 2 gL T
z 765 ¥ <M A S HAT 10% T A B, AT
ﬁmt@mw&ﬁ , \‘(g\\‘z
(A) X790 W (B) 800 AV

e 0 Do) zs16
(E) Question nottzttempted / SN T \ot

& g
A Shopkeeper alléWs successive discounts of
10% and 5% on igvery item. He allowed an
additional discountiof 4% to his friend on an item
‘marked at ¥ 20,000£0w much his friend paid for
the item?
TR S 10% T 5% 1 shftreh e
S
199 37 ferat 3ifeh g < 20,000 1 7
I@ﬂﬁﬁﬂiﬁgﬁl 3% fiet 3 3w a=q @

b A
P B) 16320 1P°70F
D) 16,512 ¥
Question not attempted / AT 720 :
ontd...
G'\/ | Contc
\ W \u‘* '\}‘

- Q0
)
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91

92,

e e 3 & Faffee 3uge s
(A) e Ee HfET

(B) ot ol e S

' ifee #ff &R g qeT

In 2023
2023 the Ra:
he Rajasthan; player Divya Kriti Singh

R«’][ho
IE wWas ot
Vas given the Arjuna Award for the
game of:-
Choose
t :
be most appropriate answer from the

options given below:

(A)  Polo

(B)  Equestrian

(C)  Equestrian Dressage

(D)  Shooting

(E)  Question not attempted

2023 % Tt fgene feeaeret e Tdte 1 i

IR o et o fordr feem mam? )

it e & metferas sges 7

(A) et :
RSGEI

© TEEE SR

(D) femETSh

(BE) Irgafaws

Who among the following from Rajasthan was
awarded Padma Shri, 2024?
Choose the most appropriate answer ﬁrogvthe

options given below:

(A) Shri Lakha Khan Manganiar

(B)  Shri Moolchand Lodha

(C) Pandit Shri Laxman Bhatt Tailang
(D) Shri Laxman Singh

(E) Question not attempted

JrTedT 3 FEfoTen 3 & o v=rsi oeeehm 2024 &
ST fofe T 22 ¥

(@) e fEE

(B) FrERa 5

TUV-COO]

| Service Scheme (NSS) ¢

93  The Nationa ‘
Sector scheme of the Government Of
under which of the following Ministries’

ost appropriate answer

Choose the m

options given below:

(A) Ministry of Education

(B) Ministry of Social  Justici
Empowerment

(C) Ministry of Youth Affairs and Spo

(D) Ministryof Womenand Child Deve|

(E)  Question not attempted

T AT IS (T, TH. TEL) W

HETT &1 1 AT ©, TS TR | & fohe

% o7efiT B2

Fr=fafes fysedt o & gaffas SR

_ (o e s
(B) mmwmw
(©) I FRFA SN T T
(D)  Hiee us siret e wiseRr
(E)  1gaied wer

4
9 The 1admonal huntexs of Ra|as han inc ud

a. Thori b N
L aik

C. 1
Sansi d Boliya

Choose the most appropriate
options given below:
(A) aandb only.
(©)
©

(E)  Question not attempteq i E

: @
W%WM%
a  URy :

answer fro,

(B)

ban
a,band d only, ) d ¢ only,
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ti period was

2 Rajasthani literature of the Bhak
mainly written between
Choose the most appropriate answer from the
options given belbw:

1050-1450%.[).

(A)

(B) 1450-1650,A.D.

(C)  1650-1850,4D.

(D) 1850 to Present time

(E)  Question ngtiattempted

i Tt i1 TSTEY T Hifeed Hed: &
ez foram mam

frafafiad fasred @ @ waifoss 3ugw 37 -

(A)  1050-145080) <. 1450-1650 T, <.
)X” 1650-1850W. €1, (D) 1850 & IdH €HA
( wgﬁﬁﬁsratg

g 4
13 Which genre of R@flsthani prose and poetry were
written in Sortha@rse?
Choose the most appropriate answer from the

options given belew:
€A) Saakhi ¢5y (B) Dwavait
(C) Vaat “¢ (D) Rupak
(E)  Question nﬁ'attempted
TaT we i 1T S e e el ¥ ford o
a?

ﬁm’@ﬂaﬁféﬂ;zﬂgﬁmgﬁ;
(A) @ 4w
@) S (D) 9=
(E) aﬁﬁﬁﬂm&

<

114  The cost of a commiodity increased by 20%, then
a family reduceddits consumption by 20%. By
what percentagetwill the expenditure of the

family on the commodity increase or decrease?

(A) No change (B) 4% increase
(C) 4% decrelfq (D) 6% increase
(E)  Question notattempted

Frf e 7 7 20% 1 3 B ¢ e
arwq 1 1 20%861 % € 36 aeq woafaw
& 71 A o4 # febaa wferere afs an a6t 2oy,
(A) ¢ (B) 4%3fg

/(,Qf\ a0 (D) 6% 3f

(E) wafa s

rov-co9] X%

\M.cﬁf
%"‘ N

-

o ,//
e B
%2\ V
VYo I
3 0, 9] > O I ? ’WI‘))
115 By how much 775 % of T 300 exceeds < 2
2 300 % 772%, T 210 & forr #7fer 87
/)/, %23 (B) %13
(C) 290 (D)) Lo
HAATHET 94

(E) Questiopnot attempted
116 Every month Navin spends 60% of his salary o1

household affairs. He sends 50% of the remainin;

0% of the stil

to his parents and spends 5
remaining on family outings. Still he saves certar
amount, then fWhat percentage of his salary hi
saves every month?

T e W ST A T 60% ] HEl T
HTAT B o8 TFT 50% 3T AHTTH FT 4951 2
31 s7eft ot S 6T 50% TG F BT FUe T
21 T 1 A% AT ST A o o e T 2
T T HEH I ST I o Tohd - FfaTd hT aT=ie

AT B2
fox
(A) 6% (B) 8% ]
10% , D) 12% e

E ion'r e
(E)  Question'not attempted / 37T 757 92€
. 3 D

(i
all govansh
under, cattle maintained in cow shelters registerec

117 Support money for small cattle (sm

by the state goVernment is enh

e T anced from Octobe)

Choose the mo;st appropriate
options given below:
(A) %36/ day
© 38/ day’

answer from the

B) T2

. D) 252

(E)  Question not attempted

s i

o _W;;mﬁﬁwrﬁsmaﬁﬁr@muéﬁm
i "?'“ SRR o ——

day

day
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